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1. Answer Question ONE and any other TWO questions.
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Question1 (Compulsory)

a) Explain the subject matter of agricultural economics [5 marks]
b) What are the main goals of production economics [10 marks]
¢) Whatis the importance of the elasticity of substitution in agricultural production economics
[5 marks]
d) What information is required for the determination of optimum output combinations in a
production function? [5 marks]

Answer any two (2) questions from the following

Question 2

a)

Distinguish between the following efficiency concepts.

(i) Technical efficiency

(i) Allocative efficiency

(iii) Economic efficiency [9 marks]

Use the following Cobb- Douglas production function for NAMBOARD and the associated
price information to derive the demand functions (optimal amounts) for the TWO inputs

1 3 :
labour and fertilizer. Production function: ¥ = xl/ > xz/ >, where Y= NAMBOARD's output

in tonnes,x; - labour input in person days and x, = fertilizer use in kilograms. The unit
prices are as follows: P, = E10, P, = E3,and P,, = E1. [16 marks]

Question 3

The technological, economic, institutional and policy causes of poor performance of the agricultural
sector in Sub-Saharan Africa have been pointed out in recent literature. Briefly critique these

causes specifically focussing on the Swaziland case. [25 marks)
Question 4
a) What is a production function and explain its significance in agricultural production

b)

economics.(hint: explanation in terms of the three regions) [10 marks]

Discuss areas in which the Swaziland government could intervene in order to promote
agricultural performance in the country [10 marks]

What has been the setback to agricultural growth in Swaziland in the recent past.
[5 marks)



Question 5
a) Why is technological change in agriculture important for continued industrial growth in the
labor surplus dual economy model as discussed by Lewis? [12 marks]
b) What are the benefits of entrepreneurial empowerment in agriculture?  [13 marks]




